

A NOTE ON DISCRETE CLASSICAL ORTHOGONAL POLYNOMIALS

BAGHDADI ALOUI^{1,5}, JIHAD SOUSSI², AND WATHEK CHAMMAM^{3,4,5,*}

ABSTRACT. We introduce the concept of $D_{w,p}$ -classical orthogonal polynomials, where $D_{w,p}$ is the lowering operator given by $D_{w,p} := \frac{\tau_w - \tau_p}{w-p}$, $w, p \in \mathbb{C}$, with $\tau_w f(x) := f(x+w)$. We conclude that these polynomials are the shifted discrete classical orthogonal polynomials.

1. INTRODUCTION

An orthogonal sequence of polynomials $\{p_n\}_{n \geq 0}$ is called classical if $\{p'_n\}_{n \geq 0}$ is also orthogonal. This characterization is essentially the Hahn-Sonine characterization (see [11, 19]) of the classical orthogonal polynomials. In [12], Hahn proved similar characterizations for orthogonal sequences of polynomials p_n such that $D_w p_n$ or $H_q p_n$ ($n \geq 1$) are again orthogonal sequences. Here, D_w is the difference operator and H_q is the q -difference operator given, respectively, by $D_w f(x) = \frac{f(x+w)-f(x)}{w}$, $w \neq 0$ and $H_q f(x) = \frac{f(qx)-f(x)}{(q-1)x}$, $q \neq 1$. Note that differentiation, difference, and q -difference are lowering operators as they reduce the degree of a polynomial by exactly one.

The concept of O -classical orthogonal polynomials, where O is an operator on the space of polynomials, has been studied by many authors in the literature (see [1–14]).

The aim of the present paper is to pick up orthogonal sequences of polynomials under a lowering operator denoted by $D_{w,p}$, where $D_{w,p} f(x) := \frac{f(x+w)-f(x+p)}{w-p}$, generalizing the difference operator $D_w f(x) := \frac{f(x+w)-f(x)}{w}$ (see [1]).

Key words and phrases. Orthogonal polynomials, linear functionals, lowering operator.

2020 *Mathematics Subject Classification.* Primary: 33C45. Secondary: 42C05.

<https://doi.org/10.46793/KgJMat2606.931A>

Received: November 28, 2023.

Accepted: June 28, 2024.

The structure of this paper is as follows. In Section 2, we present the terminology and basic definitions that will be used later on. In Section 3, we give some properties of the $D_{w,p}$ -classical orthogonal polynomials.

2. PRELIMINARIES

Let \mathcal{P} be the linear space of polynomials in one variable with complex coefficients and \mathcal{P}' its dual space, whose elements are *forms*. We denote by $\langle u, p \rangle$ the action of $u \in \mathcal{P}'$ on $p \in \mathcal{P}$. In particular, we denote by $(u)_n := \langle u, x^n \rangle$, $n \geq 0$, the moments of u .

Let us introduce some useful operations in \mathcal{P}' . For any $u \in \mathcal{P}'$, $g \in \mathcal{P}$, $a \in \mathbb{C} \setminus \{0\}$, and $b \in \mathbb{C}$, we let $Du = u'$, gu , $h_a u$ and $\tau_b u$, be the forms defined by duality [15]

$$\begin{aligned} \langle u', f \rangle &:= -\langle u, f' \rangle, & \langle gu, f \rangle &:= \langle u, gf \rangle, & f \in \mathcal{P} \\ \langle h_a u, f \rangle &:= \langle u, h_a f \rangle = \langle u, f(ax) \rangle, & \langle \tau_b u, f \rangle &:= \langle u, \tau_b f \rangle = \langle u, f(x - b) \rangle, & f \in \mathcal{P}. \end{aligned}$$

A form u is called normalized if it satisfies $(u)_0 = 1$. We assume that the forms used in this paper are normalized.

Let $\{P_n\}_{n \geq 0}$ be a sequence of monic polynomials (MPS) with $\deg P_n = n$ and let $\{u_n\}_{n \geq 0}$ be its dual sequence, $u_n \in \mathcal{P}'$, defined by $\langle u_n, P_m \rangle = \delta_{n,m}$ with $n, m \geq 0$. Note that u_0 is said to be the canonical functional associated with the MPS $\{P_n\}_{n \geq 0}$.

Let us recall the following result.

Lemma 2.1 ([15,16]). *For any $u \in \mathcal{P}'$ and any integer $m \geq 1$, the following statements are equivalent:*

- (i) $\langle u, P_{m-1} \rangle \neq 0$, $\langle u, P_n \rangle = 0$, $n \geq m$;
- (ii) exist $\lambda_\nu \in \mathbb{C}$, $0 \leq \nu \leq m - 1$, $\lambda_{m-1} \neq 0$ such that $u = \sum_{\nu=0}^{m-1} \lambda_\nu u_\nu$.

The form u is called *regular* if we can associate with it a sequence $\{P_n\}_{n \geq 0}$ such that

$$\langle u, P_n P_m \rangle = r_n \delta_{n,m}, \quad r_n \neq 0, n, m \geq 0.$$

The sequence $\{P_n\}_{n \geq 0}$ is then called an *orthogonal* sequence of monic polynomials (MOPS) with respect to u . Note that $u = (u)_0 u_0 = u_0$. When u is regular, let F be a polynomial such that if $Fu = 0$, then $F = 0$ (see [18]).

Proposition 2.1 ([15,16]). *Let $\{P_n\}_{n \geq 0}$ be an MPS with $\deg P_n = n$, $n \geq 0$, and let $\{u_n\}_{n \geq 0}$ be its dual sequence. The following statements are equivalent.*

- (i) $\{P_n\}_{n \geq 0}$ is orthogonal with respect to u_0 .
- (ii) For all $n \geq 0$

$$u_n = \langle u_0, P_n^2 \rangle^{-1} P_n u_0.$$

- (iii) $\{P_n\}_{n \geq 0}$ satisfies the three-term recurrence relation

$$(TTRR) : \begin{cases} P_0(x) = 1, & P_1(x) = x - \beta_0, \\ P_{n+2}(x) = (x - \beta_{n+1})P_{n+1}(x) - \gamma_{n+1}P_n(x), & n \geq 0, \end{cases}$$

where $\beta_n = \langle u_0, xP_n^2 \rangle \langle u_0, P_n^2 \rangle^{-1}$, $n \geq 0$ and $\gamma_{n+1} = \langle u_0, P_{n+1}^2 \rangle \langle u_0, P_n^2 \rangle^{-1} \neq 0$, $n \geq 0$.

If $\{P_n\}_{n \geq 0}$ is a MOPS with respect to the regular form u_0 , then $\{\tilde{P}_n\}_{n \geq 0}$, where $\tilde{P}_n(x) = a^{-n}P_n(ax)$, $n \geq 0$, $a \neq 0$, is a MOPS with respect to the regular form $\tilde{u}_0 = h_{a^{-1}}u_0$, and satisfies [16]

$$\begin{cases} \tilde{P}_0(x) = 1, & \tilde{P}_1(x) = x - \tilde{\beta}_0, \\ \tilde{P}_{n+2}(x) = (x - \tilde{\beta}_{n+1})\tilde{P}_{n+1}(x) - \tilde{\gamma}_{n+1}\tilde{P}_n(x), & n \geq 0, \end{cases}$$

where $\tilde{\beta}_n = a^{-1}\beta_n$ and $\tilde{\gamma}_{n+1} = a^{-2}\gamma_{n+1}$.

Recall the operator

$$(D_{w,p}f)(x) := \frac{f(x+w) - f(x+p)}{w-p}, \quad f \in \mathcal{P}, w, p \in \mathbb{C}.$$

The transposition ${}^tD_{w,p}$ of $D_{w,p}$ is $-D_{-w,-p}$, with a slight abuse of notation which is harmless. Thus,

$$\langle D_{-w,-p}u, f \rangle = -\langle u, D_{w,p}f \rangle, \quad u \in \mathcal{P}', f \in \mathcal{P}, w, p \in \mathbb{C}.$$

Note that $D_{w,0}$ reduces to the operator D_w where $(D_wf)(x) = \frac{f(x+w)-f(x)}{w}$ (see [1]).

Lemma 2.2. *The following formulas hold*

$$(2.1) \quad (D_{w,p}fg)(x) = (\tau_{-p}f)(x)(D_{w,p}g)(x) + (\tau_{-w}g)(x)(D_{w,p}f)(x), \quad f, g \in \mathcal{P},$$

$$(2.2) \quad (D_{w,p}f(\tau_wg))(x) = (\tau_{-p}f)(x)(D_{w,p}(\tau_wg))(x) + g(x)(D_{w,p}f)(x), \quad f, g \in \mathcal{P},$$

$$(2.3) \quad (\tau_{-w}fg)(x) = (\tau_{-w}f)(x)(\tau_{-w}g)(x), \quad f, g \in \mathcal{P},$$

$$(2.4) \quad (\tau_{-w}gu) = (\tau_{-w}g)(\tau_{-w}u), \quad g \in \mathcal{P}, u \in \mathcal{P}',$$

$$(2.5) \quad D_{-w,-p}(gu) = (\tau_wg)(D_{-w,-p}u) + (D_{-w,-p}g)(\tau_pu), \quad g \in \mathcal{P}, u \in \mathcal{P}',$$

$$(2.6) \quad (\tau_b \circ D_{w,p})(f) = (D_{w,p} \circ \tau_b)(f),$$

$$(2.7) \quad (\tau_b \circ D_{w,p})(u) = (D_{w,p} \circ \tau_b)(u), \quad f \in \mathcal{P}, u \in \mathcal{P}', b \in \mathbb{C},$$

$$(2.8) \quad (h_a \circ D_{w,p})(u) = (aD_{aw,ap} \circ h_a)(u), \quad u \in \mathcal{P}', a \in \mathbb{C} \setminus \{0\},$$

$$(2.8) \quad (h_a \circ D_{w,p})(f) = (a^{-1}D_{a^{-1}w,a^{-1}p} \circ h_a)(f), \quad f \in \mathcal{P}, a \in \mathbb{C} \setminus \{0\}.$$

The relations (2.1)–(2.4) are evident. Further, we have

$$\begin{aligned} \langle D_{-w,-p}(gu), f \rangle &= -\langle u, g(D_{w,p}f) \rangle = -\langle u, D_{w,p}(f(\tau_wg)) - (\tau_{-p}f)D_{w,p}(\tau_wg) \rangle \\ &\quad \text{(from (2.2))} \\ &= \langle (\tau_wg)(D_{-w,-p}u) + \tau_p((D_{w,p}\tau_wg)u), f \rangle, \end{aligned}$$

but

$$\begin{aligned} \tau_p((D_{w,p}\tau_wg)u) &= (\tau_p \circ D_{w,p} \circ \tau_wg)(\tau_pu) \quad \text{(from(2.3))} \\ &= (D_{-w,-p}g)(\tau_pu) \quad \text{(following the definitions.)} \end{aligned}$$

Hence, we have (2.5).

The proofs of (2.6)–(2.8) follow easily from the definitions.

Now, consider $\{P_n\}_{n \geq 0}$ as above in Section 1 and let

$$(2.9) \quad \widehat{P}_n(x) = \frac{1}{n+1}(D_{w,p}P_{n+1})(x), \quad n \geq 0.$$

Denoting by $\{\widehat{u}_n\}_{n \geq 0}$ the dual sequence of $\{\widehat{P}_n\}_{n \geq 0}$, we have the following result.

Lemma 2.3.

$$(2.10) \quad D_{-w,-p}(\widehat{u}_n) = -(n+1)u_{n+1}, \quad n \geq 0.$$

Indeed, from the definition $\langle \widehat{u}_n, \widehat{P}_m \rangle = \delta_{n,m}$, $n, m \geq 0$, we have $-\langle D_{-w,-p}(\widehat{u}_n), P_{m+1} \rangle = (m+1)\delta_{n,m}$, therefore

$$\begin{aligned} \langle D_{-w,-p}(\widehat{u}_n), P_m \rangle &= 0, \quad m \geq n+2, n \geq 0, \\ \langle D_{-w,-p}(\widehat{u}_n), P_{n+1} \rangle &= -(n+1), \quad n \geq 0. \end{aligned}$$

By virtue of Lemma 2.1,

$$D_{-w,-p}(\widehat{u}_n) = \sum_{\mu=0}^{n+1} \lambda_{n,\mu} u_\mu.$$

However, $\langle D_{-w,-p}(\widehat{u}_n), P_\mu \rangle = \lambda_{n,\mu}$, $0 \leq \mu \leq n+1$ and $\lambda_{n,\mu} = 0$, $0 \leq \mu \leq n$, $\lambda_{n,n+1} = -(n+1)$, $n \geq 0$. Hence, we have (2.10).

Let ϕ and ψ be two polynomials with ϕ monic, and $\deg \phi = t$, $\deg \psi = q \geq 1$. We suppose that the pair (ϕ, ψ) is admissible, i.e., when $q = t-1$, writing $\psi(x) = a_q x^q + \dots$, then a_q is not a positive integer.

Definition 2.1. A form u is called $D_{w,p}$ -semi-classical when it is regular and satisfies

$$(2.11) \quad D_{-w,-p}(\phi u) + \psi u = 0,$$

where the pair (ϕ, ψ) is admissible. The corresponding orthogonal sequence $\{P_n\}_{n \geq 0}$ is called $D_{w,p}$ -semi-classical.

Lemma 2.4. Consider the sequence $\{\tilde{P}_n\}_{n \geq 0}$ obtained by shifting P_n , i.e.,

$$\tilde{P}_n(x) = a^{-n} P_n(ax + b) = a^{-n} (h_a \circ \tau_{-b} P_n)(x), \quad n \geq 0, a \neq 0.$$

If u_0 satisfies (2.11), then $\tilde{u}_0 = (h_{a^{-1}} \circ \tau_{-b})u_0$ fulfils the equation

$$(2.12) \quad D_{-wa^{-1}, -pa^{-1}}(\tilde{\phi}\tilde{u}_0) + \tilde{\psi}\tilde{u}_0 = 0,$$

where $\tilde{\phi}(x) = a^{-t}\phi(ax + b)$ and $\tilde{\psi}(x) = a^{1-t}\psi(ax + b)$.

We need the following formulas, which are easy to prove.

$$(2.13) \quad \begin{cases} g(\tau_b u) = \tau_b((\tau_{-b}g)u), & g \in \mathcal{P}, u \in \mathcal{P}', b \in \mathbb{C}, \\ g(h_a u) = h_a((h_a g)u), & g \in \mathcal{P}, u \in \mathcal{P}', a \in \mathbb{C} \setminus \{0\}. \end{cases}$$

Let $u_0 = (\tau_b \circ h_a)\tilde{u}_0$ and $v = h_a\tilde{u}_0$. From (2.13) we have

$$\begin{aligned} \psi u_0 &= \psi(\tau_b v) = \tau_b((\tau_{-b}\psi)v) \\ &= \tau_b((\tau_{-b}\psi)(h_a\tilde{u}_0)) = (\tau_b \circ h_a)(h_a \circ \tau_{-b}\psi)\tilde{u}_0 = (\tau_b \circ h_a)(\psi(ax + b)\tilde{u}_0). \end{aligned}$$

Further, by using (2.13) and (2.7) we get

$$\begin{aligned} D_{-w,-p}(\phi u_0) &= D_{-w,-p}(\phi(\tau_b v)) = D_{-w,-p}(\tau_b((\tau_{-b}\phi)v)) \\ &= \tau_b D_{-w,-p}((\tau_{-b}\phi)(h_a \tilde{u}_0)) = \tau_b D_{-w,-p}(h_a((h_a \circ \tau_{-b}\phi)\tilde{u}_0)) \\ &= a^{-1}(\tau_b \circ h_a) D_{-wa^{-1},-pa^{-1}}(\phi(ax+b)\tilde{u}_0). \end{aligned}$$

Equation (2.11) becomes

$$(\tau_b \circ h_a) \left(D_{-wa^{-1},-pa^{-1}}(\phi(ax+b)\tilde{u}_0) + a\psi(ax+b)\tilde{u}_0 \right) = 0.$$

Hence, we have the desired result.

Regarding general semi-classical sequences, we have the following statement that we give for the sake of completeness [17, 18].

Proposition 2.2. *For any monic polynomial ϕ and any orthogonal sequence $\{P_n\}_{n \geq 0}$, the following statements are equivalent.*

a) *There exists an integer $s \geq 0$ such that*

$$\begin{aligned} \phi(x)\hat{P}_n(x) &= \sum_{\nu=n-s}^{n+t} \lambda_{n,\nu} P_\nu(x), \quad n \geq s, \\ \lambda_{n,n-s} &\neq 0, \quad n \geq s+1. \end{aligned}$$

b) *There exists a polynomial ψ , $\deg \psi = q \geq 1$ such that*

$$(2.14) \quad D_{-w,-p}(\phi u_0) + \psi u_0 = 0,$$

where the pair (ϕ, ψ) is admissible.

Remark 2.1. (a) We also have the following statement: the form u_0 is $D_{w,p}$ -semi-classical if and only if the sequence $\{\hat{P}_n\}_{n \geq 0}$ is quasi-orthogonal of order s with respect to ϕu_0 .

(b) When $\{P_n\}_{n \geq 0}$ is orthogonal, it fulfils the standard recurrence relation

$$\begin{cases} P_0(x) = 1, & P_1(x) = x - \beta_0, \\ P_{n+2}(x) = (x - \beta_{n+1})P_{n+1}(x) - \gamma_{n+1}P_n(x), & \gamma_{n+1} \neq 0, \quad n \geq 0. \end{cases}$$

Likewise, when $\{\hat{P}_n\}_{n \geq 0}$ is orthogonal ($s = 0$), it fulfils the recurrence relation

$$\begin{cases} \hat{P}_0(x) = 1, & \hat{P}_1(x) = x - \hat{\beta}_0, \\ \hat{P}_{n+2}(x) = (x - \hat{\beta}_{n+1})\hat{P}_{n+1}(x) - \hat{\gamma}_{n+1}\hat{P}_n(x), & \hat{\gamma}_{n+1} \neq 0, \quad n \geq 0. \end{cases}$$

3. THE $D_{w,p}$ -CLASSICAL ORTHOGONAL POLYNOMIALS

When $s = 0$, the sequence $\{P_n\}_{n \geq 0}$ is called $D_{w,p}$ -classical (discrete classical orthogonal polynomials), moreover, we have the more accurate following statements.

Proposition 3.1. *For any orthogonal sequence $\{P_n\}_{n \geq 0}$, the following statements are equivalent.*

a) *The sequence $\{P_n\}_{n \geq 0}$ is $D_{w,p}$ -classical.*

- b) The sequence $\{\widehat{P}_n\}_{n \geq 0}$ is orthogonal.
- c) There are two polynomials, ϕ which is monic with degree at most 2, and ψ with degree 1, along with a sequence $\{\lambda_n\}_{n \geq 0}$, where each λ_n is nonzero for $n \geq 0$, such that

$$\phi(x)(D_{w,p} \circ D_{-w,-p}P_{n+1})(x) - \psi(x)(D_{-w,-p}P_{n+1})(x) + \lambda_n P_{n+1}(x) = 0, \quad n \geq 0.$$

Proof. a) \Rightarrow b). From (2.14) and Lemma 2.2, we have

$$\begin{aligned} \langle u_0, \phi P_m \widehat{P}_n \rangle &= \frac{1}{n+1} \langle P_m \phi u_0, D_{w,p} P_{n+1} \rangle \\ &= -\frac{1}{n+1} \langle D_{-w,-p}(P_m \phi u_0), P_{n+1} \rangle \\ &= -\frac{1}{n+1} \langle (\tau_w P_m) D_{-w,-p}(\phi u_0) + (D_{-w,-p} P_m) \tau_p(\phi u_0), P_{n+1} \rangle \\ &= \frac{1}{n+1} \langle (\tau_w P_m) \psi u_0 - (D_{-w,-p} P_m) \tau_p(\phi u_0), P_{n+1} \rangle \\ &= \frac{1}{n+1} \langle u_0, ((\tau_w P_m) \psi P_{n+1} - \phi \tau_{-p}((D_{-w,-p} P_m)) P_{n+1}) \rangle. \end{aligned}$$

Consequently,

$$\begin{aligned} \langle \phi u_0, P_m \widehat{P}_n \rangle &= 0, \quad 0 \leq m \leq n-1, n \geq 1, \\ \langle \phi u_0, (\widehat{P}_n)^2 \rangle &= \frac{1}{n+1} \left(\psi'(0) - \frac{1}{2} \phi''(0)n \right) \langle u_0, P_{n+1}^2 \rangle \neq 0, \quad n \geq 0, \end{aligned}$$

since (ϕ, ψ) is admissible.

b) \Rightarrow c). From (2.10) and the assumptions,

$$(3.1) \quad D_{-w,-p}(\widehat{P}_n \widehat{u}_0) = -\mathcal{X}_n P_{n+1} u_0, \quad n \geq 0,$$

with

$$\mathcal{X}_n = (n+1) \frac{\langle \widehat{u}_0, \widehat{P}_n^2 \rangle}{\langle u_0, P_{n+1}^2 \rangle}, \quad n \geq 0.$$

For $n = 0$ in (3.1), we obtain

$$(3.2) \quad D_{-w,-p}(\widehat{u}_0) = -\gamma_1^{-1} P_1 u_0.$$

In accordance with Lemma 2.2, we have

$$D_{-w,-p}(\widehat{P}_n \widehat{u}_0) = (\tau_w \widehat{P}_n)(D_{-w,-p} \widehat{u}_0) + (D_{-w,-p} \widehat{P}_n)(\tau_p \widehat{u}_0),$$

therefore, on account of (3.2),

$$(3.3) \quad -\mathcal{X}_0 P_1 (\tau_w \widehat{P}_n) u_0 + (D_{-w,-p} \widehat{P}_n)(\tau_p \widehat{u}_0) = -\mathcal{X}_n P_{n+1} u_0, \quad n \geq 0.$$

Putting $n = 1$, we get

$$(3.4) \quad \tau_p(\widehat{u}_0) = \gamma_1^{-1} \kappa \phi u_0,$$

where $\kappa\phi(x) = P_1(x)(\tau_w\widehat{P}_1)(x) - 2\widehat{\gamma}_1\gamma_2^{-1}P_2(x)$ (ϕ monic). So, Equations (3.3), (3.4) and the regularity of u_0 imply

$$\phi(x)(D_{-w,-p}\widehat{P}_n)(x) - \psi(x)(\tau_w\widehat{P}_n)(x) + \gamma_1\kappa^{-1}\mathcal{X}_nP_{n+1}(x) = 0, \quad n \geq 0,$$

with $\psi(x) = \kappa^{-1}P_1(x)$. Comparing the degrees, we obtain

$$\frac{1}{2}\phi''(0)n - \psi'(0) + \gamma_1\kappa^{-1}\mathcal{X}_n = 0, \quad n \geq 0,$$

which means that the pair (ϕ, ψ) is admissible. Finally, we have the desired second-order difference equation with $\lambda_n = \gamma_1\kappa^{-1}(n + 1)\mathcal{X}_n$, $n \geq 0$. In fact, we also have proved that b) \Rightarrow c).

c) \Rightarrow a). From the given equation, we get

$$\langle u_0, \phi(D_{w,p} \circ D_{-w,-p}P_{n+1}) - \psi(D_{-w,-p}P_{n+1}) \rangle = 0, \quad n \geq 0.$$

Hence

$$\langle D_{w,p}(D_{-w,-p}(\phi u_0) + \psi u_0), P_{n+1} \rangle = 0, \quad n \geq 0.$$

Since $\langle D_{w,p}(D_{-w,-p}(\phi u_0) + \psi u_0), 1 \rangle = 0$, we get

$$D_{w,p}(D_{-w,-p}(\phi u_0) + \psi u_0) = 0.$$

Hence, (2.14) where the pair (ϕ, ψ) is admissible on account of $\lambda_n \neq 0$, $n \geq 0$. □

Remark 3.1. (a) In the case $s = 0$, when the pair (ϕ, ψ) is not admissible, then the solution u of (2.11) is not regular. In other words, when the solution u of (2.11) is regular, then the pair (ϕ, ψ) is necessarily admissible.

(b) Necessarily, we have

$$\begin{aligned} \kappa\phi(x) &= (1 - 2\widehat{\gamma}_1\gamma_2^{-1})x^2 + (2\widehat{\gamma}_1\gamma_2^{-1}(\beta_0 + \beta_1) - \beta_0 - \widehat{\beta}_0 - w)x \\ &\quad + \beta_0(\widehat{\beta}_0 + w) - 2\widehat{\gamma}_1\gamma_2^{-1}(\beta_0\beta_1 - \gamma_1), \\ k\psi(x) &= P_1(x). \end{aligned}$$

Proposition 3.2. *If $\{P_n\}_{n \geq 0}$ is $D_{w,p}$ -classical, the sequence $\{\widehat{P}_n\}_{n \geq 0}$ is $D_{w-p,0}$ -classical and we have*

$$(3.5) \quad D_{p-w,0}(\phi_1\widehat{u}_0) + \psi_1\widehat{u}_0 = 0,$$

with $\phi_1(x) = (\tau_{-w}\phi)(x)$ and $\psi_1(x) = (\kappa^{-1}(\tau_{-p}P_1) - (D_{w,p}\phi))(x)$.

Proof. When $\{P_n\}_{n \geq 0}$ is $D_{w,p}$ -classical, we have (3.2)

$$D_{-w,-p}(\widehat{u}_0) = -\gamma_1^{-1}P_1u_0.$$

Multiplying this equation by ϕ , we get

$$\phi D_{-w,-p}(\widehat{u}_0) = -\gamma_1^{-1}\phi P_1u_0.$$

But by (2.5), $\phi D_{-w,-p}(\widehat{u}_0) = D_{-w,-p}((\tau_{-w}\phi)\widehat{u}_0) - (D_{-w,-p} \circ \tau_{-w}\phi)\tau_p\widehat{u}_0$, so we have

$$D_{-w,-p}((\tau_{-w}\phi)\widehat{u}_0) - (D_{-w,-p} \circ \tau_{-w}\phi)\tau_p\widehat{u}_0 = -\gamma_1^{-1}\phi P_1u_0$$

and

$$\tau_{-p} \circ D_{-w,-p}((\tau_{-w}\phi)\hat{u}_0) - (D_{w,p}\phi)\hat{u}_0 = -\gamma_1^{-1}\tau_{-p}(P_1)\tau_{-p}(\phi u_0).$$

By (3.4), we have $\hat{u}_0 = \gamma_1^{-1}\kappa\tau_{-p}(\phi u_0)$, and so we now get

$$D_{-w+p,0}((\tau_{-w}\phi)\hat{u}_0) + (\kappa^{-1}(\tau_{-p}P_1) - (D_{w,p}\phi))\hat{u}_0 = 0.$$

This completes the proof. \square

Acknowledgements. The authors extend the appreciation to the Deanship of Postgraduate Studies and Scientific Research at Majmaah University for funding this research work through the project number (R-2024-1188). The authors thank the referees for valuable comments and suggestions. They have contributed to improve the presentation in this paper.

REFERENCES

- [1] F. Abdelkarim and P. Maroni, *The D_w -classical orthogonal polynomials*, Result. Math. **32** (1997), 1–28. <https://doi.org/10.1007/BF03322520>
- [2] B. Aloui, F. Marcellán and R. Sfaxi, *Classical orthogonal polynomials with respect to a lowering operator generalizing the Laguerre operator*, Integral Transforms Spec. Funct. **24**(8) (2013), 636–648. <https://doi.org/10.1080/10652469.2012.744006>
- [3] B. Aloui, *Hahn's problem with respect to a third-order differential operator*, Transylv. J. Math. Mech. **6**(2) (2014), 85–100.
- [4] B. Aloui, *Characterization of Laguerre polynomials as orthogonal polynomials connected by the Laguerre degree raising shift operator*, Ramanujan J. **45**(2) (2018), 475–481. <https://doi.org/10.1007/s11139-017-9901-x>
- [5] B. Aloui, *Chebyshev polynomials of the second kind via raising operator preserving the orthogonality*, Period. Math. Hungar. **76** (2018), 126–132. <https://doi.org/10.1007/s10998-017-0219-7>
- [6] B. Aloui, *Hermite polynomials and Hahn's theorem with respect to the raising operator*, Electron. J. Math. Anal. Appl. **6**(2) (2018), 157–162.
- [7] B. Aloui and J. Souissi, *Jacobi polynomials and some connection formulas in terms of the action of linear differential operators*, Bull. Belg. Math. Soc. Simon Stevin **28**(1) (2021), 39–51. <https://doi.org/10.36045/j.bbms.200606>
- [8] B. Aloui and J. Souissi, *Bessel polynomials and some connection formulas in terms of the action of linear differential operators*, Ural Math. J. **8**(2) (2022), 4–12. <https://doi.org/10.15826/umj.2022.2.001>
- [9] I. Area, E. Godoy, A. Ronveaux and A. Zarzo, *Classical symmetric orthogonal polynomials of a discrete variable*, Integral Transforms Spec. Funct. **15** (2004), 1–12. <https://doi.org/10.1080/10652460310001600672>
- [10] Y. B. Cheikh and M. Gaied, *Characterization of the Dunkl-classical symmetric orthogonal polynomials*, Appl. Math. Comput. **187** (2007), 105–114. <https://doi.org/10.1016/j.amc.2006.08.108>
- [11] W. Hahn, *Über die jacobischen polynome und zwei verwandte polynomklassen*, Math. Z. **39** (1935), 634–638.
- [12] W. Hahn, *Über orthogonalpolynome, die q-differenzgleichungen genügen*, Math. Nach. **2** (1949), 4–34.
- [13] L. Khérifi and P. Maroni, *The H_q -classical orthogonal polynomials*, Acta. Appl. Math. **71** (2002), 49–115. <https://doi.org/10.1023/A:1014597619994>

- [14] K. H. Kwon and G. J. Yoon, *Generalized Hahn's theorem*, J. Comput. Appl. Math. **116** (2000), 243–262.
- [15] P. Maroni, *Une théorie algébrique des polynômes orthogonaux. Application aux polynômes orthogonaux semi-classique*, in: *Orthogonal Polynomials and their Applications*, C. Brezinski et al. (Eds.), IMACS Ann. Comput. Appl. Math. **9**, Basel, Baltzer, 1991, 95–130.
- [16] P. Maroni, *Fonctions Eulériennes, Polynômes Orthogonaux Classiques*, Techniques de l'Ingénieur, *Traité Généralités (Sciences Fondamentales) A* **154** (1994), 1–30. <https://doi.org/10.51257/a-v1-a154>
- [17] P. Maroni, *Introduction à l'étude des δ -polynômes orthogonaux semi-classiques*, Pub. Lab. Ana.-Num. (1985).
- [18] P. Maroni, *Variations around classical orthogonal polynomials. Connected problems*, J. Comput. Appl. Math. **48** (1993), 133–155. [https://doi.org/10.1016/0377-0427\(93\)90319-7](https://doi.org/10.1016/0377-0427(93)90319-7)
- [19] N. J. Sonine, *On the approximate computation of definite integrals and on the entire functions occurring there*, Warsch. Univ. Izv. **18** (1887), 1–76.

¹GABES UNIVERSITY, HIGHER INSTITUTE OF INDUSTRIAL SYSTEMS OF GABES, SALAH EDDINE ELAYOUBI STR., 6033 GABES, TUNISIA

²GABES UNIVERSITY, FACULTY OF SCIENCES OF GABES, ERRIADH STR., 6072 GABES, TUNISIA

³DEPARTMENT OF MATHEMATICS., COLLEGE OF SCIENCE AL-ZULFI, MAJMAAH UNIVERSITY., AL-MAJMAAH 11952, SAUDI ARABIA

⁴UNIVERSITY OF CARTHAGE, NATIONAL INSTITUTE OF APPLIED SCIENCES AND TECHNOLOGY, INSAT CENTRE URBAIN NORD BP 676 - 1080 TUNIS CEDEX, TUNIS, TUNISIA

⁵GABES UNIVERSITY, RESEARCH LABORATORY MATHEMATICS AND APPLICATIONS LR17ES11, ERRIADH CITY, 6072 ZRIG, GABES, TUNISIA

Email address: Baghdadadi.Aloui@fsg.rnu.tn

ORCID id: <https://orcid.org/0000-0003-2493-6615>

Email address: jihadsuissi@gmail.com & jihad.souissi@fsg.rnu.tn

ORCID id: <https://orcid.org/0000-0001-6694-2437>

Email address: w.chammam@mu.edu.sa

ORCID id: <https://orcid.org/0000-0002-3274-8334>

*CORRESPONDING AUTHOR